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Name             Date       

 

1. Solve the following problems.  Circle the number sentence if you must subtract from         
the ten.  

10 – 3 =              10 – 5 =               10 – 6 =            

  

11 – 3 =              11 – 5 =               11 – 6 =            

 

12 – 3 =                               12 – 5 =               12 – 6 =            

 

13 – 3 =                               13 – 5 =                                    13 – 6 =            

 

14 – 3 =                              14 – 5 =                                    14 – 6 =            

 

15 – 3 =                               15 – 5 =                                   15 – 6 =            

 

16 – 3 =                               16 – 5 =                                    16 – 6 =            

 

17 – 3 =                               17 – 5 =                                    17 – 6 =            

 

18 – 3 =                               18 – 5 =                                   18 – 6 =            

 

19 – 3 =                               19 – 5 =                                    19 – 6 =            
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2. Fill in the blank to make the number sentence correct. 
 

14 – 8 = 2 +            
 
15 – 6 = 4 +            
 
18 – 9 = 1 +            
 
16 – 7 = 3 +            
 
11 – 5 = 5 +            
 
13 – 4 = 6 +            
 
 

 
3. Mrs. Jones bought 12 eggs from the store in the morning.  Her husband brought 

home 5 more eggs in the evening.  They used 8 of the eggs for dinner. How many 
eggs do they have left?  
 
 
 
 

4. 11 pink roses and 7 red roses grew in Mrs. Thompson’s garden.  She gave away 9 of 
the pink roses to her neighbor.  How many roses does she have left? 

 
 
 

 

 


